1.025

.=~ .
1
1
#.

uoIN|oAUOD [a1]

1.01

abelolg [jme]

Y]
N
@
o

0.950
0.925

T

0.990

0.985

{1+

{1}~
{1 -

L1
HI
U+

e}ﬁ

anreu Apoqu [ys]

N

—

1.3

1
—

1.00
1.00

=

xnpaiyonyuuey [1ys]

I I
e I
AL .

yrew™ wuoueroads [ys]

1.0

9.
o

1.02
0.98

0 o 0 o © < N o e = 0 3 & I
2 2 8 S S 3 S S 2 s 5 & & &
-~ ~— o o o o
L[] P :
. ¢ . O
. L[]
L]
. i ) — | = J__}=
L[] E d
. . . + 3 ° .
L[]
L[]

soanhieulq [1ys]

1.1

1.00
0.90

1snjoxayy [a1] xnpaiejse} [1ys]

1.050
1.025
1.000
0.975
1.02
1.00

eupxabal [1ys]

1
e
-

L= -

0.99

]
LI
DH .
1
{1

ﬁ—.. .

subipid [ys]

0.96
1.00
0.92



